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#include <stdio.h>
#include <math.h>

#include <stdlib.h>
#include <string.h>

double g2(double x, double a, double b)
{

double z;

z=-4*a*sin (2% (b+x))+sin(x);

return z;

}

double aniso_magn_r(double a, double b) /* x - phi, a - g, b - theta */
{

char dummy [30];

int i, j, n;

double dx, f1, f, x, x1, y, z;

double pi;

pi=M_PI;

n=50;

dx=pi/4/n;

if (a<0){a*=-1; b+=pi/2;}
while(b>=pi/2) b-=pi;
while(b<-pi/2) b+=pi;

if (a>0.5 && b<0)

{

x=-pi/2;
while(g2(x,a,b)<0) x+=dx;
}

else if(a>0.5 && b>=0)

{

x=pi/2;
while(g2(x,a,b)>0) x-=dx;
}

else if (b<0)

{

x=-pi/2;

while(g2(x, a, b)<0)

{

x+=dx;

}



}

else

{

x=pi/2;

while(g2(x, a, b)>0)

{

x-=dx;

}

}

z=1.0;

3=0;
while(fabs(z)>0.001 && j<10)
{
f=a*sin(2*(x+b))-sin(x);
f1=2*xa*cos (2% (x+b))-cos(x);
x1=x-f/f1;

if (f1==0) {x=0; break;}
z=x1-x;

x=x1;

jtts

}

return Xx;

}
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